



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} =$$



Navn: \_\_\_\_\_

Dato: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^2 - \frac{3}{4} = \left(-\frac{13}{18}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} - \frac{3}{5} = \frac{27}{5} = 5\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \frac{1}{3} = \frac{76}{3} = 25\frac{1}{3}$$

$$\left(\frac{1}{3}\right)^{(-2)} - \frac{1}{5} = \frac{44}{5} = 8\frac{4}{5}$$

$$\left(\frac{3}{4}\right)^{(-1)} + \frac{2}{5} = \frac{26}{15} = 1\frac{11}{15}$$

$$\left(-\frac{3}{5}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{2}{5}\right)$$

$$\left(\frac{1}{3}\right)^{(-1)} - \frac{1}{2} = \frac{5}{2} = 2\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{3}{4} = \frac{37}{36} = 1\frac{1}{36}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{3}\right) = \frac{11}{3} = 3\frac{2}{3}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{3}\right) = \frac{13}{36}$$

$$\left(\frac{1}{4}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{2}\right) + \frac{3}{4} = \frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{103}{180}\right)$$

$$\left(\frac{1}{4}\right)^2 + \frac{3}{5} = \frac{53}{80}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \frac{1}{5} = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^{(-2)} + \frac{1}{2} = \frac{9}{2} = 4\frac{1}{2}$$